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1. Choose the most appropriate answer from the

given options by putting a Tick (3) mark in the

brackets provided : 1×10=10

(a) (iv) Employee information 

(b) (ii) deterministic system

(c) (i) to process routine transactions 

(d) (i) Systematic adoption of MIS

(e) (i) it produces smaller data set for determining 

information requirement
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(f) (iv) It need not align with the organizations

strategic plan

(g) (ii) All of the above

(h) (ii) Mouse

(i) (iii) cyber space

(j) (i) 65

2. State whether the following statements are True

or False by putting a Tick (3) mark : 1×5=5

(a) False

(b) True

(c) False

(d) True

(e) False

H H H

BBA–601 (AK)/748K 24L—PDF

( 2 )


